HEFE
1. BEOREICEHT S &

-1 MEFR EEREQEIEREFNIL)

Al R FRI Fih2 Fk3 =k
B# 0 1,867 2,134 29, 092 39, 093
i 0. 0% 20. 1% 5. 5% 74. 4% 100. 0%

BETEMNFR/MEER EERAEDOEIREFHIL)
iR FRI Fith2 Fik3 Bit

AE (FEXRTE) 0 2, 656 713 8, 7164 12,133
K& (BB T %<2 x 455)) 0 532 182 987 1,701
K& (FUNTKRENRIVTESE 0 506 144 2,208 2,858
#HEmary)—k RO & 0 11 0 8 19
BHa oY —F (RO) #EST LT 0 1 3 2 6
#%E ) & 0 144 16 86 246
B%E (S) BETLNT> 0 4,007 1,071 17,033 22,111
HEHKHI Y )~k (SRC) & 0 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0 0
Z Db 0 8 2 2 12
= 0 7,865 2, 131 29, 090 39, 086

BETEANE S/ MEFR EEREQEIEREFNRL)
MRS FR Fih2 Fik3 Bt

K& (FEEIEK) 0. 0% 21.9% 5. 9% 12. 2% 100. 0%
RiE (BiREET A2 x45%D) 0. 0% 31. 3% 10. 7% 58. 0% 100. 0%
K& (FLNITKENRRIVTESE 0. 0% 17. 7% 5. 0% 77. 3% 100. 0%
#HEHar o )—k (RO & 0. 0% 57. 9% 0. 0% 42. 1% 100. 0%
#HHav ) —F (RO ELTLANTY 0. 0% 16. 7% 50. 0% 33. 3% 100. 0%
#H®E (S & 0. 0% 58. 5% 6. 5% 35. 0% 100. 0%
#BE () BEITLNTD 0. 0% 18. 1% 4.8% 77.0% 100. 0%

BHEHKHFI V) —F (SRC) & - - - - -
avyy—rkJOyy (CB) i& - - - - -
Z D 0. 0% 66. 7% 16. 7% 16. 7% 100. 0%
= 0. 0% 20. 1% 5. 5% 14. 4% 100. 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER



HEFE
1. BEOREICEHT S &

1-2 MEFH EEREDEEHILE)

Al R FRI Fih2 Fk3 =kl
B# 0 8, 376 2,142 28,575 39, 093
i 0. 0% 21. 4% 5. 5% 73.1% 100. 0%

BETEMNFH/MESFR EEREDBENL)
iR FRI Fith2 Fik3 Bit

AE (FEXRTE) 0 2, 654 716 8,763 12,133
K& (BB T %<2 x 455)) 0 532 183 986 1,701
K& (FUNTKRENRIVTESE 0 506 144 2,208 2,858
#HEmary)—k RO & 0 12 0 7 19
BHa oY —F (RO) #EST LT 0 1 3 2 6
#%E ) & 0 146 16 84 246
B%E (S) BETLNT> 0 4,515 1,075 16, 521 22,111
HEHKHI Y )~k (SRC) & 0 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0 0
Z Db 0 8 2 2 12
= 0 8,374 2,139 28,573 39, 086

BETEMNE S/ MEFR EEREQBERLE)
Al R FRI Fih2 Fik3 Bt

K& (FEEIEK) 0. 0% 21.9% 5. 9% 12. 2% 100. 0%
RiE (BiREET A2 x45%D) 0. 0% 31. 3% 10. 8% 58. 0% 100. 0%
K& (FLNITKENRRIVTESE 0. 0% 17. 7% 5. 0% 77. 3% 100. 0%
#HEHar o )—k (RO & 0. 0% 63. 2% 0. 0% 36. 8% 100. 0%
#HHav ) —F (RO ELTLANTY 0. 0% 16. 7% 50. 0% 33. 3% 100. 0%
#H®E (S & 0. 0% 59. 3% 6. 5% 34. 1% 100. 0%
#BE () BEITLNTD 0. 0% 20. 4% 4.9% 74. 7% 100. 0%

BHEHKHFI V) —F (SRC) & - - - - -
avyy—rkJOyy (CB) i& - - - - -
Z D 0. 0% 66. 7% 16. 7% 16. 7% 100. 0%
= 0. 0% 21. 4% 5. 5% 13. 1% 100. 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER



HEFE

1. BEOREICEHT S &

-4 MREEFR BERAEQEIREN IR TEEHIE)

Fk Fik2 &t
B# 9, 090 30, 003 39, 093
% 23. 3% 76. 7% 100. 0%
BETERNF /M RER EERAEOEIRFN LR CBEEIE)

Fikl k2 Bit
A& (FEXRITE) 3, 064 9, 069 12,133
K& (BB T %<2 x 455)) 647 1,054 1,701
RE (FLNTKERRIVTESE 524 2,334 2, 858
#HEHar o )—k RO & 5 14 19
#HHar oY —F (RO) @EST LT 1 5 6
#%E ) & 148 98 246
B%E (S) BETLNT> 4, 691 17,420 22,111
HEHKHI Y ) —F (SRC) & 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0
Z Db 8 4 12
Bit 9,088 29, 998 39, 086
BETEMNES/MREFR EEREDEIRFNH LR CEERIE)

Fki Fik2 =E
K& (FEEIEK) 25. 3% 74. 7% 100. 0%
RiE (BiREET A2 x45%D) 38. 0% 62. 0% 100. 0%
K& (FLNTKRBENRRIVTEE 18. 3% 81. 7% 100. 0%
#HEHar o )—k (RO & 26. 3% 73. 7% 100. 0%
#HHav ) —F (RO ELTLANTY 16. 7% 83. 3% 100. 0%
#%E S & 60. 2% 39. 8% 100. 0%
#BE () BEITLNTD 21. 2% 78. 8% 100. 0%
BHEHKH Y )—k (SRC) & - - -
avyy—rkJoyy (CB) i& - - -
Z Db 66. 7% 33. 3% 100. 0%
= 23. 3% 76. 7% 100. 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER




HEFE

1. BEOREICEHT S &

1-5 MEEEHR EEREQEIREFNH LR VEGHIL)

ZEXEs | FR Fik2 Bit
B# 37,718 987 388 39, 093
% 96. 5% 2. 5% 1. 0% 100. 0%
BE LA PR/ MIEEFR (BERAQEIEREN LR EERIE)

ZuRiEs | FR FiR2 =
A& (FEXRITE) 11, 898 102 133 12,133
K& (BB T %<2 x 455)) 1,680 14 7 1,701
RE (FLNTKERRIVTESE 2, 622 48 188 2, 858
#HEHar o )—k RO & 15 3 1 19
#HHar oY —F (RO) @EST LT 6 0 0 6
#%E ) & 239 3 4 246
B%E (S) BETLNT> 21, 241 816 54 22,111
HEHKHI Y ) —F (SRC) & 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0
Z Db 10 1 1 12
Bit 37, 711 987 388 39, 086
BETEMNE S/ MEEEHR (BEREDEIRFR LR UEEHILE)

ZEXEs | FR Fik2 Bit
K& (FEEIEK) 98. 1% 0.8% 1.1% 100. 0%
RiE (BiREET A2 x45%D) 98. 8% 0. 8% 0. 4% 100. 0%
K& (FLNITKENSRIVTESE 91. 7% 1. 7% 6. 6% 100. 0%
#HEHar o )—k (RO & 78. 9% 15. 8% 5.3% 100. 0%
#HHav ) —F (RO ELTLANTY 100. 0% 0. 0% 0. 0% 100. 0%
#%E S & 97. 2% 1.2% 1. 6% 100. 0%
#BE () BEITLNTD 96. 1% 3. 7% 0. 2% 100. 0%
BHEHKH Y )—k (SRC) & - - - -
avyy—rkJoyy (CB) i& - - - -
Z Db 83. 3% 8.3% 8.3% 100. 0%
= 96. 5% 2. 5% 1. 0% 100. 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER




HEFE

2. KKEFDREICEHTH &

-1 BMEREEREEHR (EEF K

304 Fik2 FR3 Fik4 =11
P 35, 096 3, 386 562 47 39, 091
% 89. 8% 8. 7% 1.4% 0.1% 100. 0%
BETENPH/ BRAMZHRESHEFH (BEF MK

F FR2 FR3 Fih4 =1
A& (FERIE) 9,816 1,919 379 19 12,133
RiE (BfHEE TR x45)) 1,258 396 47 0 1,701
RiE (FUNTRBNRIINTES 2,762 75 19 2 2,858
#mmary)J—k (RC) & 16 3 0 0 19
a2y 1)—k (RC) &E<TL/NTD> 6 0 0 0 6
e (S) & 226 19 1 0 246
B (S) ET LD 20, 994 973 116 26 22,109
HE#kmary)—k (SRC) & 0 0 0 0 0
avhyy—kJOovs (CB) & 0 0 0 0 0
Z D 11 1 0 0 12
&&t 35, 089 3, 386 562 47 39, 084
BELENE S/ BRANZERESHEFTR (BEF LK)

F FiR2 FHk3 Fiha &5t
A& (FEEIE) 80. 9% 15. 8% 3.1% 0.2% 100. 0%
ARiE (BiEBET A2 x45)) 74. 0% 23. 3% 2. 8% 0. 0% 100. 0%
RiEg (TFUNTKRENRITESE 96. 6% 2. 6% 0.7% 0. 1% 100. 0%
#HEgma o )—hk (RC) & 84.2% 15. 8% 0.0% 0. 0% 100. 0%
HFa o U—bk (RC) &ESTLANTD 100. 0% 0. 0% 0.0% 0.0% 100. 0%
#®E (S) & 91.9% 1. 7% 0. 4% 0. 0% 100. 0%
$B%E (S) ELTLNDTD 95. 0% 4. 4% 0. 5% 0.1% 100. 0%
HEHHaY)— bk (SRC) & - - - - -
avyy—rJOowyy (CB) & - - - - -
Z Dk 91. 7% 8.3% 0. 0% 0. 0% 100. 0%
&5t 89. 8% 8. 7% 1.4% 0.1% 100. 0%

FRI6FERREEMRRTME ) T4 (EEMEaeEHE- R~

A
=



2-4 BRI CAKE)

L A 1= I\ = =1
F# 37,037 5 1 893 1,156] 39,092
% 94. 7% 0. 0% 0. 0% 2.3% 3. 0% 100. 0%
BETERBP R/ BRI R SR

il 4 4= /\ = &5t
KEe (FEERIZE) 11,739 0 0 36 357] 12,132
R (BB T A2 x4%)) 1,504 0 0 116 81 1,701
AiE (TLNITRE/NRIVIESE 2,798 0 0 36 24 2, 858
a1 )— bk (RC) & 12 0 0 0 7 19
a2 )—Fk (RC) ELTL/NT> 5 0 0 0 1 6
#®E (S) & 110 0 0 23 113 246
BB (S) E<TLNTD 20, 860 3 1 678 569 22, 111
HsEHKHI Y J—bk (SRC) & 0 0 0 0 0 0
avyyy—rJowvy (CB) & 0 0 0 0 0 0
Z Dt 9 2 0 4 4 19
= 37,037 5 1 893 1,156] 39,092
BETEREIS /B R R (KSR

BZEEL A 1= I\ = it
A& (FEERIZE) 96. 8% 0.0% 0. 0% 0.3% 2.9% 100. 0%
A& (BREE TR x4%)) 88. 4% 0. 0% 0. 0% 6. 8% 4.8%  100.0%
RiE (TUNTKRENRIIVTESE 97. 9% 0. 0% 0. 0% 1. 3% 0.8% 100. 0%
o~y )—bk (RC) & 63. 2% 0. 0% 0. 0% 0. 0% 36.8%  100.0%
a2 1)—Fk (RC) &<TLNT> 83. 3% 0. 0% 0. 0% 0.0% 16. 7% 100. 0%
#%E (S) & 44. 7% 0. 0% 0. 0% 9.3% 45.9%  100. 0%
B (S) ETLNT> 94. 3% 0. 0% 0. 0% 3. 1% 2.6% 100. 0%
BEHSHIY)— bk (SRC) & - - _ — . ~
avyyy—rJowvy (CB) & - - - - - -
Z Dt 47. 4% 10. 5% 0. 0% 21.1% 21.1%[  100. 0%
&t 94. 7% 0. 0% 0. 0% 2.3% 3. 0% 100. 0%

FRI6FEZEREEMRTEE (HE) T -2 (EFEHaETE- R THhE



2-5 MXEFHR EHEOEENDHLHES (BFHOHE] )

ZLEL Fik 1 EFh2 FRS =1
P 76 32, 353 6, 663 1 39,093
% 0.2% 82.8% 17. 0% 0. 0% 100. 0%
BELENPH/ MANER (EROBZTADHEEHS (FAOE) )

AL kA e k3 ait
A& (FERIE) 40 9, 333 2,759 1 12,133
A& (BB T E2x45%D) 3 1,147 551 0 1,701
KiE (FUNTRENRIIVTES 6 2,528 324 0 2,858
#mary)—k (RC) & 0 16 3 0 19
a2 1)—k (RC) @E<TL/NTD> 0 6 0 0 6
#®E (S) & 1 119 126 0 246
e (S) ET LT 26 19, 194 2,891 0 22,111
HEHkmay)—Fk (SRC) & 0 0 0 0 0
avHoY)y—kJOvs (CB) & 0 0 0 0 0
Z D 0 6 6 0 12
=kl 76 32, 349 6, 660 1 39, 086
BETERNEE/MARER (EROBZTADHDIES (O] )

EEL. 1Y Ek Fih2 FH/S &5t
A (FEERIE) 0.3% 76. 9% 22. 7% 0. 0% 100. 0%
RiE (BrfEEE T A2 x4%)) 0.2% 67. 4% 32. 4% 0. 0% 100. 0%
KiEg (TUNTKRENRIVTESE 0.2% 88. 5% 11. 3% 0. 0% 100. 0%
o>y )—bk (RC) & 0.0% 84.2% 15. 8% 0.0% 100. 0%
a2y )—bk (RC) BT LANTD 0.0% 100. 0% 0.0% 0. 0% 100. 0%
e (S) & 0. 4% 48. 4% 51.2% 0.0% 100. 0%
BB (S) ETLANT> 0.1% 86. 8% 13.1% 0. 0% 100. 0%
HEHHaY)— bk (SRC) & - - - - -
avyy—rJOowyy (CB) & - - - - -
Z Dk 0. 0% 50. 0% 50. 0% 0. 0% 100. 0%
&5t 0. 2% 82.8% 17. 0% 0. 0% 100. 0%

FRI6FERREEMRRTME ) T4 (EEMEaeEHE- R~

A
=



2-6 MAER ERENOEENDHLHES (FAOEFLUSN] )

EEINA TR Efh2 %3 ka4 it
P& 33 2,613 35,152 1,032 263[ 39,093
% 0.1% 6. 7% 89. 9% 2. 6% 0.7% 100. 0%
BELENEH/MAER EROBTNADOH DI (OSSN )

EEIAAIET X Efk2 E# 3 k4 &t
A& (FEERIE) 10 2, 055 9,673 394 1 12,133
A& (BB TR x4%)) 2 387 1,151 161 0 1,701
K (TLNTKRENRIVTESED 6 33 2,780 39 0 2, 858
BHar oy )—bk (RC) & 0 1 0 1 17 19
a2 —k (RC) E<TL/ANTD 0 1 2 0 3 6
B%E (S & 0 52 95 88 11 246
B%E (S) ETLNT> 15 76| 21,446 343 231 22,111
HEHHY)— bk (SRC) & 0 0 0 0 0 0
avsy—kJOowvs (CB) & 0 0 0 0 0 0
ZNDih 0 4 3 5 0 12
it 33 2,609 35 150 1,031 263[ 39,086
BETERMNBE/MAER EEOSZTADHDES (BOERLIS) )

BN EETD S k2 /3 k4 X1
A& (FEEIX) 0.1% 16. 9% 79. 7% 3.2% 0. 0% 100. 0%
A& (BpAEEE TR<2x4%)) 0.1% 22. 8% 67. 7% 9.5% 0. 0% 100. 0%
A& (TULNITKRENRIVTESE 0. 2% 1.2% 97. 3% 1. 4% 0. 0% 100. 0%
BHa s )—hk (RC) & 0. 0% 5. 3% 0. 0% 5. 3% 89. 5% 100. 0%
a1 —bk (RC) &E<TLANTD 0. 0% 16. 7% 33. 3% 0. 0% 50. 0% 100. 0%
%E (S) & 0. 0% 21. 1% 38. 6% 35. 8% 4.5% 100. 0%
$%E (S) ELTLNT> 0.1% 0. 3% 97. 0% 1.6% 1.0% 100. 0%
BEHHmaUY)— bk (SRC) & - - - - - -
avyy—kJOvy (CB) & - - - - - -
ZNDih 0. 0% 33. 3% 25. 0% 41. 7% 0. 0% 100. 0%
it 0.1% 6. 7% 89. 9% 2. 6% 0. 7% 100. 0%

FRI6FERREEMRRTME ) T4 (EEMEaeEHE- R~

A
=



WEFE
3. BILDBERICEHT S &

3-1 SbxtRHFHR HEEREE)

Fk Fik2 k3 &t
B# 1, 561 3,475 34, 057 39, 093
% 4. 0% 8. 9% 87.1% 100. 0%

BETEMNFR/ S RFR BERKEE)

Fikl k2 Fik3 &it

A& (FEXRITE) 548 1,976 9, 609 12,133
RiE (BHAEET A2 x4%D) 65 1,172 464 1,701
K& (FUNTKRENRIVTESE 10 289 2,499 2,858
#HEHary)—k RO & 9 6 4 19
#HHar oY —F (RO) @EST LT 1 0 5 6
#%E ) & 131 23 92 246
B%E (S) BETLNT> 125 9 21, 377 22,111
HEHKHI Y ) —F (SRC) & 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0
ZDits 1 0 5 12
= 1,556 3,475 34, 055 39, 086

BETEANE S/ S REFR EERESE)

Fki Fik2 FHk3 =Ll

K& (FEEIEK) 4. 5% 16. 3% 79. 2% 100. 0%
RiE (BiREET E2x45%D) 3. 8% 68. 9% 27. 3% 100. 0%
K& (FLNITKENSRIVTESE 2. 4% 10. 1% 87. 4% 100. 0%
#HEHar o )—k (RO & 47. 4% 31. 6% 21.1% 100. 0%
#HHav ) —F (RO ETLANTY 16. 7% 0. 0% 83. 3% 100. 0%
#%E (S & 53. 3% 9. 3% 37. 4% 100. 0%
#BE () BEITLNTD 3. 3% 0. 0% 96. 7% 100. 0%

BEHKHFI V) —F (SRC) & - - - -
avyy—rkJoyy (CB) i& - - - -
Z D 58. 3% 0. 0% 41.7% 100. 0%
= 4. 0% 8. 9% 87.1% 100. 0%

FRI6FERRIEMRETME G E) T2 (FEitaesl- R TihR



HEFE
4 HEFEE - BEHAOREICETSL

41 HHEEENREFR (EREE)

ZEEL Fik Fik2 Fik3 =
=E 7 3,728 3,228 32,130 39, 093
i 0. 0% 9. 5% 8. 3% 82. 2% 100. 0%

BET AN FR/MFEENRER (FREE)
ZETL ik Fithk2 Fik3 Bit

AE (FEXRTE) 2 1,039 939 10, 153 12,133
K& (BB T %<2 x 455)) 0 359 43 1,299 1,701
K& (FUNTKRENRIVTESE 0 163 88 2,607 2,858
#HEmary)—k RO & 0 8 6 5 19
BHa oY —F (RO) #EST LT 0 3 2 1 6
#%E ) & 0 94 43 109 246
B%E (S) BETLNT> 5 2, 051 2,105 17, 950 22,111
HEHKHI Y )~k (SRC) & 0 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0 0
Z Db 0 5 2 5 12
= 1 3,722 3,228 32,129 39, 086

BETENE S/ HMBFEENRER (FREE)
ZEL Fik ik Fik3 Bt

K& (FEEIEK) 0. 0% 8. 6% 1.7% 83. 7% 100. 0%
RiE (BiREET A2 x45%D) 0. 0% 21.1% 2. 5% 16. 4% 100. 0%
K& (FLNITKENRRIVTESE 0. 0% 5. 7% 3. 1% 91. 2% 100. 0%
#HEHar o )—k (RO & 0. 0% 42. 1% 31. 6% 26. 3% 100. 0%
#HHav ) —F (RO ELTLANTY 0. 0% 50. 0% 33. 3% 16. 7% 100. 0%
#H®E (S & 0. 0% 38. 2% 17. 5% 44. 3% 100. 0%
#BE () BEITLNTD 0. 0% 9. 3% 9.5% 81. 2% 100. 0%

BEBHI Y J—F (SR0) & : - - . .
Sv5y—FkJaovys (B & - - - - -

Z ot 0.0% 4175  16.7%  41.7%  100.0%
At 0. 0% 9. 5% 8.3%  82.2%  100.0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER



HEFE
CRBREICEAT S &

5-1 BT RILF—MEER

Fk Fik2 k3 Fiha Bt
B# 652 6, 406 9, 580 22, 455 39, 093
i 1.7% 16. 4% 24. 5% 57. 4% 100. 0%

BETERNFH/E T I —EEFR

BR1_| B8R | B@e | B@d4 | A

AE (FEXRTE) 377 4, 941 5,121 1,688 12,133
K& (BB T %<2 x 455)) 49 1,254 209 189 1, 701
K& (FUNTKRENRIVTESE 1 98 1,735 1,018 2,858
#HEmary)—k RO & 2 1 5 5 19
BHa oY —F (RO) #EST LT 2 1 1 2 6
#%E ) & 113 4 45 47 246
B%E (S) BETLNT> 93 61 2,453 19, 504 22,111
HEHKHI Y )~k (SRC) & 0 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0 0
Z Db 4 3 4 1 12
= 647 6, 406 9,579 22, 454 39, 086

BETEANES/ET R —RFR

ZR =% | E83 Z1R4 e

K& (FEEIEK) 3. 1% 40. 7% 42. 3% 13. 9% 100. 0%
RiE (BiREET A2 x45%D) 2.9% 73. 7% 12. 3% 11.1% 100. 0%
K& (FLNITKENRRIVTESE 0. 2% 3. 4% 60. 7% 35. 6% 100. 0%
#HEHar o )—k (RO & 10. 5% 36. 8% 26. 3% 26. 3% 100. 0%
#HHav ) —F (RO ELTLANTY 33. 3% 16. 7% 16. 7% 33. 3% 100. 0%
#H®E (S & 45. 9% 16. 7% 18. 3% 19. 1% 100. 0%
#BE () BEITLNTD 0. 4% 0. 3% 11.1% 88. 2% 100. 0%
BHEHKHFI V) —F (SRC) & - - - - -

HKEHHIH)—F (SRC) & - - - - -

Z D 33. 3% 25. 0% 33. 3% 8. 3% 100. 0%
= 1.7% 16. 4% 24. 5% 57. 4% 100. 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER



HEFE

CERBMRIRICEAYT S &

5-1 BT RILF—MEER

Fk Fik2 k3 Fiha Bt
B 652 6, 406 9, 580 22, 455 39, 093
% 1.7% 16. 4% 24. 5% 57. 4% 100. 0%
ISR FH/E T IV KEFR

Fikl k2 Fik3 Fiha Bit
I Hhig 1 0 7 6 14
1T iz 8 5 205 152 370
I #h 32 11 26 252 1,202 1,491
IV Hhig 563 6, 236 1,430 18, 629 32, 858
V ihig 9 11 98 312 430
VI iz} 0 3 62 6 71
a&t 592 6, 281 8, 054 20, 307 35, 234
MRS EE/E T RILF A EKEFR

Fiki Fik2 Fik3 Fiha &t
I #his 7. 1% 0. 0% 50. 0% 42. 9% 100. 0%
II #higk 2.2% 1. 4% 55. 4% 4. 1% 100. 0%
I 35 0. 7% 1. 7% 16. 9% 80. 6% 100. 0%
IV #h g} 1. 7% 19. 0% 22. 6% 56. 7% 100. 0%
V iz 2.1% 2. 6% 22. 8% 72. 6% 100. 0%
VI i i3} 0. 0% 4. 2% 87. 3% 8. 5% 100. 0%
A&t 1. 7% 17. 8% 22. 9% 57. 6% 100. 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER




HEFE

6. ERIRIRICEHATSH L

6-1 RILLTILTE RKRE

40 EAY =AY O a/\ &it
F# 388 1 6, 394 151 24,241 31,175
% 1.2% 0.0% 20. 5% 0.5% 717. 8% 100. 0%
BEIENFE/ RILLTILTE FRR

40 FEWAY 4 an m| [ m WA A&t
AE (EERIE) 293 0 1,682 55 9, 469 11,499
A& (B#EBETE2x45)) 60 0 309 5 1,182 1,556
K& (FLNTKRENRIVTEED 3 0 286 8 583 880
oy J—k (RC) & 0 0 5 1 9 15
oy )—bk (RC) #&<TL/NTD 0 0 1 0 2 3
#®E (S & 12 0 65 8 60 145
BB (S) ELTLNDD 20 1 4,034 74 12,932 17,061
HEHH V) —F (SRC) & 0 0 0 0 0 0
avyg)—kJAvY (CB) & 0 0 0 0 0 0
Z Dith 3 0 0 6 0 9
= 391 1 6, 382 157 24,237 31,168
BETTENEIE/ RILLTILTE KR

40 FEAY 4 An m| a/\ &8t
AE (EEIE) 2. 5% 0.0% 14. 6% 0. 5% 82.3% 100. 0%
K& (BT AL x45%)) 3. 9% 0. 0% 19. 9% 0.3% 76. 0% 100. 0%
KE&E (FLNTKRENRIIVTESE 0. 3% 0.0% 32.5% 0.9% 66. 3% 100. 0%
#gHmar v )—+F (RO & 0.0% 0.0% 33. 3% 6. 7% 60. 0% 100. 0%
a2 )—k (RC) E<TL/ANTD 0. 0% 0. 0% 33. 3% 0. 0% 66. 7% 100. 0%
#%eE (S & 8.3% 0.0% 44 8% 5. 5% 41. 4% 100. 0%
$%E (S) EELTLANT> 0. 1% 0. 0% 23. 6% 0. 4% 75. 8% 100. 0%
BEHKHI Y U—F (SRO) & - - - - - -
a4y )—krJavY (CB) & - - - - - -
Z D 33.3% 0. 0% 0. 0% 66. 7% 0. 0% 100. 0%
&t 1.3% 0. 0% 20. 5% 0. 5% 71. 8% 100. 0%

FRI6FERREEMRRTME ) T4 (EEMEaeEHE- R~

A
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6-1 RILLTILTE FRER/HRILLTILTE FEHER (RE)

UL | HHki k2 E#k 3 &5t
P 5 38 1,028 37,506 38,577
% 0. 0% 0. 1% 2. 7% 97. 2% 100. 0%
BETENPE/RIVLTILTE FRE/RIVLTILTE FEEREFER (RE)

UL | HH&A Zih2 £k 3 A&t
AiE (FEEIE) 1 15 501 11,412 11,929
AiE (MfHEE TR x 4%)) 0 5 129 1,552 1,686
AiE (TLNTKRBNARIVTES 0 3 233 2,538 2,774
B%Ears)—bk (RC) i 1 0 2 12 15
oo )— bk (RC) E<T LA 0 0 0 6 6
#%E (S) & 1 2 17 221 241
BB (S) BETLNATD 2 13 144 21, 749 21,908
BEHBOY)— bk (SRC) & 0 0 0 0 0
avhy—kJavs (B) ¥ 0 0 0 0 0
F Dt 0 0 2 9 11
&t 5 38 1,028 37,499 38,570
g T EEES/RIVLTILTE RREK/RILLTILT E FREER (RE)

L | HHkA k2 k3 A&t
A& (EERIE) 0. 0% 0. 1% 4. 2% 95. 7% 100. 0%
ARiE (HBiHBETE<2x45)) 0. 0% 0.3% 1. 7% 92.1% 100. 0%
AiE (TLNTKREBNRILTES 0. 0% 0. 1% 8. 4% 91. 5% 100. 0%
#smary)—Fk (RC) & 6. 7% 0. 0% 13. 3% 80. 0% 100. 0%
$BFar s )— bk (RC) #E<TLATD 0. 0% 0. 0% 0. 0% 100. 0% 100. 0%
#E (S) & 0. 4% 0. 8% 7.1% 91. 7% 100. 0%
#B%E (S) BT LT 0. 0% 0.1% 0.7% 99. 3% 100. 0%
BEHFO VYY) — bk (SRC) & - - - - -
avyy—krJOowyy (CB) & - - - - -
ZDith 0. 0% 0. 0% 18. 2% 81. 8% 100. 0%
&t 0. 0% 0.1% 2. 7% 97. 2% 100. 0%

FRI6FERREEMRRTME ) T4 (EEMEaeEHE- R~

A
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6-1 RILLATILTE RRE/RILLTILTE FEEBEH (KHEZ)

Uil | H#Hk2 Z#k 3 A&t
B 38 2,217 36,318 38,573
% 0.1% 5.7% 94. 2% 100. 0%
BEILENFH/FRILLTILTE FRE/HRILLATILTE FEEER (RAEESE

L | HHk2 Ek 3 Bt
AiE (FEEIE) 8 1,289 10, 631 11,928
KiE (B#EBET QO x45D) 7 311 1,368 1,686
ARiE (TLNTREBNRIVTES 0 277 2,497 2,774
#HmHary1)—Fk (RC) & 2 3 10 15
a1 )— bk RC) ESTLANDT> 0 0 6 6
#%E (S & 1 62 178 241
#%E (S) ETLANAD 20 263 21,622 21, 905
HE#Ha>Y)—k (SRC) & 0 0 0 0
avyyy—rJowvy (CB) & 0 0 0 0
Z Dt 0 7 4 11
Bt 38 2,212 36, 316 38, 566
BETEEIE/RILLATILTE RRIE/RILLATZILTE FEBER (KHAES

Ul | H#Hk2 Z4k 3 A5t
A& (ERIE) 0.1% 10. 8% 89. 1% 100. 0%
A& (FpflEE T R<2x4%)) 0. 4% 18. 4% 81.1% 100. 0%
RiE (TLNTKRBNARIIITESE 0. 0% 10. 0% 90. 0% 100. 0%
oy )—bk (RC) & 13. 3% 20. 0% 66. 7% 100. 0%
#iFaro 1 )—bk (RC) &E<T LT 0. 0% 0. 0% 100. 0% 100. 0%
#%E (S & 0. 4% 25. 7% 73. 9% 100. 0%
B%E (S) ETLNAD 0. 1% 1.2% 98. 7% 100. 0%
HEHKHa Y U—bF (SRC) & - - - -
avoy—rJOawyy (0B) & - - - -
FDith 0. 0% 63. 6% 36. 4% 100. 0%
&t 0. 1% 5. 7% 94. 2% 100. 0%

FRI6FEEREEMRTME HE) T2 (EEitael - R T HE




6-2 EEDHMIXIE

ZuAL A N =11
F# 21 38, 652 43 3 38,719
% 0.1% 99. 8% 0.1% 0. 0% 100. 0%
BELENFH/ BEOBRITE

%L A /\ A5t
A& (FEERIE) 3 11,939 11 0 11, 953
A& (BB T E<2x4%)) 0 1,686 0 0 1,686
RiE (FUNTRBNRIIVTES 0 2,775 1 0 2,776
a4y )—k (RC) & 1 14 0 0 15
a2 1)—k (RC) &E<TL/NTD> 0 6 0 0 6
#®E (S) & 0 240 1 0 241
B (S) BT LD 17 21,975 29 3 22,024
HEHHmaY)—Fk (SRO) & 0 0 0 0 0
avHh)y—kJOvy (CB) & 0 0 0 0 0
Z D 0 10 1 0 11
&t 21 38, 645 43 3 38,712
BELENEES/ BEOBRIXEK

B " A N aEt
A& (FEERIE) 0. 0% 99. 9% 0.1% 0. 0% 100. 0%
ARiE (HBHHEETE<2x45)) 0.0% 100. 0% 0. 0% 0.0% 100. 0%
RKiEg (FULNTRENRIIITESE 0.0% 100. 0% 0. 0% 0. 0% 100. 0%
#smary)—Fk (RC) & 6. 7% 93. 3% 0. 0% 0.0% 100. 0%
a2 )—bk (RC) ESTLANTD 0.0% 100. 0% 0. 0% 0. 0% 100. 0%
e (S) & 0.0% 99. 6% 0. 4% 0.0% 100. 0%
e (S) T LT 0.1% 99. 8% 0.1% 0. 0% 100. 0%
HEHHaY)— bk (SRC) & - - - -
avyy—rJOowyy (CB) & - - - -
Z Dk 0. 0% 90. 9% 9.1% 0. 0% 100. 0%
&5t 0.1% 99. 8% 0.1% 0. 0% 100. 0%

FRI6FERREEMRRTME ) T4 (EEMEaeEHE- R~

A
=



6-2 BErsxE (ERT)

LA L A = = A &it
P 7 328 32,622 6,124 Ji 39, 088
% 0. 0% 0. 8% 83. 5% 15. 7% 0. 0% 100. 0%
BELEFH/BABiSx® (ER)

AL 1 140 = /\ &t
A& (FEEIE) 1 166 6, 625 5,339 2 12,133
A& (BiEBE T E2x45)) 0 33 1,007 660 1 1,701
RiE (FULNTRENRIVTEED 0 25 2,799 34 0 2,858
a2 )—hk (RC) & 0 4 15 0 0 19
oo U—b RC) &ESTLANTD 0 1 5 0 0 6
#%a (S) & 0 7 232 Ji 0 246
#%E (8) E<TL/ANTD> 6 92 21, 921 83 4 22,106
SEtkmary)— Lk (SRC) & 0 0 0 0 0 0
avsyy—krJAavsy (CB) & 0 0 0 0 0 0
Z D 0 0 11 1 0 12
&&t 7 328 32,615 6,124 7 39, 081
BELEEE/RBS xR (ER)

B&EGL A 10 = 7\ &5t
A& (FEERIE) 0. 0% 1.4% 54. 6% 44. 0% 0. 0% 100. 0%
ARiE (BiHEETE<2x45)) 0. 0% 1.9% 59.2% 38. 8% 0.1% 100. 0%
RKiEg (FUNTRENRIIVITESE 0. 0% 0. 9% 97. 9% 1.2% 0. 0% 100. 0%
#smary)—Fk (RC) & 0. 0% 21.1% 78. 9% 0. 0% 0. 0% 100. 0%
a1 —+bk (RC) WE<TLANTD 0.0% 16. 7% 83. 3% 0.0% 0.0% 100. 0%
#%E S & 0. 0% 2. 8% 94. 3% 2. 8% 0. 0% 100. 0%
$B%E (S) ETLNT> 0.0% 0. 4% 99. 2% 0. 4% 0.0% 100. 0%
BEHKH Y J—bk (SRC) & - - - - - -
a4y )—k7JBvYY (CB) & - - - - - -
Z D 0. 0% 0. 0% 91. 7% 8.3% 0. 0% 100. 0%
&5t 0.0% 0. 8% 83.5% 15. 7% 0. 0% 100. 0%

FRI6FERREEMRRTME ) T4 (EEMEaeEHE- R~
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6-2 BETEAE (B%)

gL A 40 O N\ it
P 22 103 38, 937 23 6 39, 091
% 0.1% 0.3% 99. 6% 0.1% 0.0% 100. 0%
BELEMNPH/ BFBRxER (A%E)

AL 4 40 ] I\ &5
ARiE (FEERIE) 4 56 12,058 14 0 12,132
ARiE (B#AEE TR x45D) 1 5 1,691 4 0 1,701
KiE (FTUNITKRBNRILVIES 0 2 2,855 0 1 2,858
a2 y')—k (RC) & 0 0 19 0 0 19
a2 ')— bk (RC) &ELTLANDD 0 0 6 0 0 6
#%E (S) & 1 4 241 0 0 246
#%E (S) ETLNT 16 36 22,049 5 4 22,110
HEHKHa Y )—F (SRC) & 0 0 0 0 1 1
arvy)y—rJOovsy (CB) & 0 0 0 0 0 0
Z Dt 0 0 11 0 1 12
&it 22 103 38, 930 23 7 39, 085
BETERNEE/ BABRRRE (AE)

ZEEL 4 40 O I &5t
A& (FEERIE) 0. 0% 0. 5% 99. 4% 0.1% 0. 0% 100. 0%
ARiE (BB T RO x45D) 0.1% 0.3% 99. 4% 0. 2% 0. 0% 100. 0%
KiE (TUNTKREBNRIVTES 0. 0% 0.1% 99. 9% 0. 0% 0.0% 100. 0%
#HEgar ' )—k (RC) & 0.0% 0. 0% 100. 0% 0.0% 0. 0% 100. 0%
a1 )—bk RC) ESTLND> 0. 0% 0. 0% 100. 0% 0.0% 0. 0% 100. 0%
e (S) & 0. 4% 1. 6% 98. 0% 0. 0% 0. 0% 100. 0%
#HE (S) ETLNTD 0.1% 0. 2% 99. 7% 0. 0% 0. 0% 100. 0%
BEHEH Y )—F (SRC) & - - _ -
avyYy—krJBAvyY (CB) & - - - -
Z Dt 0. 0% 0.0% 91. 7% 0.0% 8. 3% 100. 0%
&it 0.1% 0. 3% 99. 6% 0.1% 0. 0% 100. 0%

FRI6FEEREEMRETME FHE) T2 (EEMtaE

- RRHR




6-2 BEsxE (B

AL 1 40 = A &it
P 23 689 38, 356 15 8 39, 091
% 0.1% 1.8% 98. 1% 0. 0% 0. 0% 100. 0%
BELENPH/ Bt (&)

AL 1 10 = A &t
A& (FEEIE) 1 308 11, 814 8 2 12,133
AiE (BfHEET HQ2x45)D) 1 63 1,636 1 0 1,701
RiE (FULNTRENRIVTESED 1 30 2,827 0 0 2,858
#mary)—k (RC) & 0 2 17 0 0 19
a2y )—bk (RC) ELTLANTD 0 0 6 0 0 6
#%E (S) & 0 9 237 0 0 246
BE (S) &ETLANTD 20 277 21,800 6 6 22,109
HEtkmary)—k (SRC) & 0 0 0 0 0 0
avhy—kJOovy (CB) & 0 0 0 0 0 0
Z Dk 0 0 12 0 0 12
&t 23 689 38, 349 15 8 39, 084
BELENEES/ BB (8

ZEEL A 40O O 7\ &5t
A& (FEERIE) 0. 0% 2.5% 97. 4% 0.1% 0. 0% 100. 0%
RiE (FfHEE TR x45%D) 0.1% 3. 7% 96. 2% 0.1% 0.0% 100. 0%
KiEg (FUNTRENRIIVITES 0. 0% 1.0% 98. 9% 0. 0% 0. 0% 100. 0%
a1 —k (RO) & 0. 0% 10. 5% 89. 5% 0. 0% 0. 0% 100. 0%
a1 —+bk (RC) WE<TLANTD 0.0% 0.0% 100. 0% 0.0% 0.0% 100. 0%
#%E S & 0. 0% 3. 7% 96. 3% 0. 0% 0. 0% 100. 0%
$B%E (S) ETLNT> 0.1% 1.3% 98. 6% 0.0% 0. 0% 100. 0%
BEHKH Y J—bk (SRC) & - - - - -
a4y )—k7JBvYY (CB) & - - - - -
Z D 0. 0% 0. 0% 100. 0% 0. 0% 0. 0% 100. 0%
&5t 0.1% 1.8% 98.1% 0. 0% 0. 0% 100. 0%

FRI6FERREEMRRTME ) T4 (EEMEaeEHE- R~
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1.3 - RIRFICEHT S &

1-1 BEfpO s

[ 10%BLE | 15%BLE | 20%BLE ‘

10WRH | jouxim | coukim | 25ukim | 2OWeE | BE
P 6 27 869 7,537 30, 654 39, 093
Y, 0 0% 0% 226 19.3%|  78.4% 100,05
HEiS T AR F A/ B AR O

[ 10%5LE | 15%LE | 20%BLE ‘

bR | (5ykis | 2ok | 25wk | 2OWEE | AB
A& (FEEIE) 2 1 128 1,315 10, 687 12,133
RE (AR T X 45)) 0 7 26 194l 1 479] 1701
RE (FLNTARBE R ITEE | 7 106 889]  1.860] 2 858
ka2 )— b+ (RC) & 0 0 2 3 14 19
BEHao0 —F (RC) BCTLNTD 0 0 0 | 5 5
BE () B 0 i 1 3 270 226
BE (S) BILNTS 3 2 §02]  5.100] 16.385| 22111
BERG Y —F (SRC) & 0 0 0 0 0 0
S hy—FJavh (B) & 0 0 0 0 0 0
Z0M 0 0 1 3 8 7
& 5 77 869]  7.536]  30.648| 39,086
M ToA B4 /R eRE O

[ 10%BLE | T5%BLE | 20%BLE ,

WK | j5ukim | 2ouskim | osuskig | 20W&AE | &
R E GRLE) 004 0.0% T 1% 10.8%| 88 1% 1000
RE (AR T 50 X 45)) 0. 0% 0. 1% T 5% 11.4%  86.9%  100.0%
KE (TUNTRENRLTEE 005 0.T% 374 31.1% 65 1% 100.0%
BHa5 U —F (RO) & 005 0.0% _ 10.54 1585 _ 73.7% 100 0%
BHa0 1 —F (RC) BCTLNTD 0. 0% 006 006 16 7% _ 83.3% _ 100.0%
BE ) B 0. 0% 0. 4% 1.6% 12,64  85.4%  100.0%
BE (5) ETLAD 006 0.1% 276 23 1%  74.1% 100 0%
BERG Y —F (SRC) & - . - . - -
S5 —FrJOvs (CB) & - - - n . .
Z0M 0 0% 0.0%  8.3% 2504  66.7% 100.0%
& 006 0.1% 226 19.3%  78.4% 100 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER




HEFE

8. BRIEICEHT S L

8-4 FBiBKER (SIEFRAOE) IR

ERET =R &t
Fi# 27,465 11,627 39, 092
% 70. 3% 29. 7% 100. 0%
BETERMNFH/EBEAEHR GLERFOE) ER

EIRET =R &t
A& (FEERIE) 7,188 4,944 12,132
A& (BfEEE T2 x45)>) 1,433 268 1,701
KiE (TUNTKRE/INRIVTEED 2,642 216 2,858
#HEgar o )—hk (RC) & 11 8 19
a2y )—k (RC) &E<TL/NTD 4 2 6
#E (S) & 202 44 246
BE (S) ESTLANT> 15,971 6, 140 22,111
HEHHIV)—F (SRC) & 0 0 0
avy)—krJOwvy (CB) & 0 0 0
Z D Ji 5 12
&&t 27,458 11, 627 39, 085
BEIERNEIE/EREAEHR GHERDOE) ER

ERET =R &t
A& (FEERIZE) 59. 2% 40. 8% 100. 0%
A& (BfEEE T ;X2 x45)>) 84. 2% 15. 8% 100. 0%
ARiE (TUNTREB/NRIVTEREE 92. 4% 7. 6% 100. 0%
oy 1)—k (RC) & 57.9% 42. 1% 100. 0%
a1 —bk (RC) ESTLANTD 66. 7% 33. 3% 100. 0%
#%E (S) & 82.1% 17.9% 100. 0%
#%B (S) &ETLANTD> 72.2% 27.8% 100. 0%
HEHmI Y )— bk (SRC) & - - -
avy)—kJAvYy (CB) & - - -
Z Dk 58. 3% 41. 7% 100. 0%
= 70. 3% 29. 7% 100. 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER




8-4 FiBiBkER (SHEFAOS) dt

ZELL | FHA Fik2 Fik 3 B&t
B 1,117 1,694 8,439 406 11, 656
% 9. 6% 14. 5% 12. 4% 3. 5% 100. 0%
BET AR/ EBEAEFR GLEFEOL) 4
ZE L |FR1 Fih2 Hk 3 &t
A& FERIE) 649 932 3,248 146 4,975
RiE (B#EEE T E<2 x45) 9 65 120 75 269
K& (TUNTKRE/NSRIVTESE 31 84 96 4 215
#HEmar o) —k RO & 0 1 3 4 8
#Hav ) —F (RO ETL/ANT> 0 0 2 0 2
#%E O & 6 16 22 0 44
#%E (S ETLNT> 420 596 4,945 177 6, 138
HEHKHII Y-k (SRO) & 0 0 0 0 0
avyYY—kJOvyY (CB) i& 0 0 0 0 0
Z D 2 0 3 0 5
a&t 1,117 1,694 8,439 406 11, 656
BETEMNE S/ EBBRAFR GIEFOR)
ZEGL | FHA Fik2 Fi#k 3 =L

XiE&E (FEERIE) 13. 0% 18. 7% 65. 3% 2. 9% 100. 0%
RiE (BB T H<2 x4%D) 3. 3% 24. 2% 44. 6% 27. 9% 100. 0%
K& (TULNTKRENSRIVITESE 14. 4% 39. 1% 44. 1% 1. 9% 100. 0%
#EHa s Y—F (RO & 0. 0% 12. 5% 37.5% 50. 0% 100. 0%
#EHa v ) —F (RO ETL/ANTY 0. 0% 0. 0% 100. 0% 0. 0% 100. 0%
#%E (S & 13. 6% 36. 4% 50. 0% 0. 0% 100. 0%
#B%E () BE<TLNTD> 6. 8% 9. 7% 80. 6% 2. 9% 100. 0%
HEHHa Y )—F (SRO) & - - - - -
avyYY—krJOvY (CB) i - - - - -

Z D 40. 0% 0. 0% 60. 0% 0. 0% 100. 0%
a&t 9. 6% 14. 5% 72. 4% 3. 5% 100. 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER




8-4 FBiBKER SIEFAOE) X

ZELL | FHA Fik2 Fik 3 B&t
B 169 2,072 9, 111 313 11, 665
% 1. 4% 17. 8% 78. 1% 2.7% 100. 0%
BET AR/ EBEAEFR GLEFEOE) =

ZEl | FHhA Fik2 Fik 3 =L
A& FERIE) 105 1,067 3, 702 103 4,971
RiE (B#EEE T E<2 x45) 1 62 126 80 269
K& (TUNTKRE/NSRIVTESE 3 141 69 5 218
#HEmar o) —k RO & 0 0 4 4 8
#Hav ) —F (RO ETL/ANT> 0 0 2 0 2
#%E O & 2 19 23 0 44
#%E (S ETLNT> 57 183 5, 181 121 6, 142
HEHKHII Y-k (SRO) & 0 0 0 0 0
avy)—kJAavy (CB) & 0 0 0 0 0
Z D 1 0 4 0 5
a&t 169 2,072 9, 111 313 11, 665
BETERNE G/ EBRAEFR GLEFEOL) =

ZEGL | FHA Fik2 Fi#k 3 =L
XiE&E (FEERIE) 2. 1% 21. 4% 74. 4% 2. 1% 100. 0%
RiE (BB T H<2 x4%D) 0. 4% 23. 0% 46. 8% 29. 7% 100. 0%
K& (TULNTKRENSRIVITESE 1. 4% 64. 7% 31. 7% 2. 3% 100. 0%
#EHa s Y—F (RO & 0. 0% 0. 0% 50. 0% 50. 0% 100. 0%
#EHa v ) —F (RO ETL/ANTY 0. 0% 0. 0% 100. 0% 0. 0% 100. 0%
#%E (S & 4. 5% 43. 2% 52. 3% 0. 0% 100. 0%
#B%E () BE<TLNTD> 0. 9% 12. 7% 84. 4% 2. 0% 100. 0%
HEHHa Y )—F (SRO) & - - - - -
avyYY—krJOvY (CB) i - - - - -
Z D 20. 0% 0. 0% 80. 0% 0. 0% 100. 0%
a&t 1. 4% 17. 8% 78. 1% 2. 7% 100. 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER




8-4 FBiBKER SIEFOE) @

ZELL | FHA Fik2 Fik 3 B&t
B 37 2, 284 9,071 275 11, 667
% 0. 3% 19. 6% 17.7% 2. 4% 100. 0%
BET AR/ EBEAEFR GLEFEOE) @

ZEl | FHhA Fik2 Fik 3 =L
A& FERIE) 23 992 3, 901 62 4,978
RiE (PelEE TR x4%)) 1 65 129 74 269
K& (TUNTKRE/NSRIVTESE 1 127 86 4 218
#HEmar o) —k RO & 0 1 3 4 8
#Hav ) —F (RO ETL/ANT> 0 0 2 0 2
#%E O & 1 25 18 0 44
#%E (S ETLNT> 11 1,074 4,927 131 6, 143
HEHKHII Y-k (SRO) & 0 0 0 0 0
avy)—kJAavy (CB) & 0 0 0 0 0
Z D 0 0 5 0 5
a&t 37 2,284 9,071 275 11, 667
BETERNE G/ EBRAEFR GIEFEOL) &

ZEGL | FHA Fik2 Fi#k 3 =L
XiE&E (FEERIE) 0. 5% 19. 9% 718. 4% 1. 2% 100. 0%
RiE (BB T H<2 x4%D) 0. 4% 24. 2% 48. 0% 27.5% 100. 0%
K& (TULNTKRENSRIVITESE 0. 5% 58. 3% 39. 4% 1. 8% 100. 0%
#EHa s Y—F (RO & 0. 0% 12. 5% 37.5% 50. 0% 100. 0%
#EHa v ) —F (RO ETL/ANTY 0. 0% 0. 0% 100. 0% 0. 0% 100. 0%
#%E (S & 2. 3% 56. 8% 40. 9% 0. 0% 100. 0%
#B%E () BE<TLNTD> 0. 2% 17. 5% 80. 2% 2. 1% 100. 0%
HEHHa Y )—F (SRO) & - - - - -
avyYY—krJOvY (CB) i - - - - -
Z D 0. 0% 0. 0% 100. 0% 0. 0% 100. 0%
a&t 0.3% 19. 6% 17.7% 2. 4% 100. 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER




8-4 FBiBKER SIEFAOE) &

ZELL | FHA Fik2 Fik 3 B&t
B 305 1,868 9,125 366 11, 664
% 2. 6% 16. 0% 78. 2% 3.1% 100. 0%
BET AR/ EBEAEFR GLEFEOE) &

ZEl | FHhA Fik2 Fik 3 =L
A& FERIE) 135 986 3,733 122 4,976
RiE (B#EEE T E<2 x45) 4 62 128 75 269
K& (TUNTKRE/NSRIVTESE 8 119 87 3 217
#HEmar o) —k RO & 0 0 4 4 8
#Hav ) —F (RO ETL/ANT> 0 0 2 0 2
#%E O & 1 23 21 0 45
#%E (S ETLNT> 157 678 5, 145 162 6, 142
HEHKHII Y-k (SRO) & 0 0 0 0 0
avy)—kJAavy (CB) & 0 0 0 0 0
Z D 0 0 5 0 5
a&t 305 1, 868 9,125 366 11, 664
BETERNE G/ EBBAEFR GLEFEOL) &

ZEGL | FHA Fik2 Fi#k 3 =L
XiE&E (FEERIE) 2. 1% 19. 8% 75. 0% 2. 5% 100. 0%
RiE (BB T H<2 x4%D) 1. 5% 23. 0% 47. 6% 27. 9% 100. 0%
K& (TULNTKRENSRIVITESE 3. 7% 54. 8% 40. 1% 1. 4% 100. 0%
#EHa s Y—F (RO & 0. 0% 0. 0% 50. 0% 50. 0% 100. 0%
#EHa v ) —F (RO ETL/ANTY 0. 0% 0. 0% 100. 0% 0. 0% 100. 0%
#%E (S & 2. 2% 51. 1% 46. 7% 0. 0% 100. 0%
#B%E () BE<TLNTD> 2. 6% 11. 0% 83. 8% 2. 6% 100. 0%
HEHHa Y )—F (SRO) & - - - - -
avyYY—krJOvY (CB) i - - - - -
Z D 0. 0% 0. 0% 100. 0% 0. 0% 100. 0%
a&t 2. 6% 16. 0% 78. 2% 3. 1% 100. 0%

FRI6FEEREEMAETME ) T2 (EFEttaesl- R TiER
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9. SEMEBEBZEADERICET S &

9-1 SEEFREXNEKER (FRHAS)

FiRk k2 k3 ik 4 &t
F# 23, 415 1,030 14,618 19 39, 082
% 59. 9% 2. 6% 37. 4% 0. 0% 100. 0%
BELZ P/ SiEEFREMNRER (ERES)

EkA k2 k3 Ziha &t
AiE (FERIE) 3,675 241 8, 211 5 12,132
A& (BRI %<2 x4%)) 588 207 906 0 1,701
K& (TLNITKRENRIVTESE 2,250 31 576 0 2,857
BHary)—bk (RC) & 13 0 5 1 19
a2 —k RO ESTLADD 4 0 2 0 6
#%E (S) & 216 6 24 0 246
#%E (S) ETLND> 16, 653 544 4,892 13 22,102
BEHBHaVY)—F (SRC) & 0 0 0 0 0
avs)y—kJovsy (CB) & 0 0 0 0 0
Z N 10 1 1 0 12
it 23, 409 1,030 14,617 19 39, 075
BELEANEE/ B FREMNRER ERES)

EikA k2 k3 %4 &5t
AiE (FERIE) 30. 3% 2. 0% 67. 7% 0. 0% 100. 0%
ARE (BABET RO x4%D) 34. 6% 12.2% 53.3% 0. 0% 100. 0%
AiE (TUNTKRENRIVITESE 78. 8% 1.1% 20. 2% 0. 0% 100. 0%
$rary)—bk (RC) & 68. 4% 0. 0% 26. 3% 5. 3% 100. 0%
a2 U—k (RC) E<TLANTD 66. 7% 0. 0% 33.3% 0. 0% 100. 0%
#%E (S) & 87. 8% 2. 4% 9.8% 0. 0% 100. 0%
8E (S) ETLNAT 75. 3% 2. 5% 22.1% 0. 1% 100. 0%
SEHFaLY ) — bk (SRC) & - - - _ —
a4y )—kJOvy (CB) & - - - - -
F D 83. 3% 8. 3% 8.3% 0. 0% 100. 0%
=Xl 59. 9% 2. 6% 37. 4% 0. 0% 100. 0%
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